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two ways !

1) Find area above 2- =L ,
then subtract it

from 1

area =
I - 0,1587 = 0.8413

2) Find area between
O and I and

add at

areas 0.3413 tats
0.8413
-



I
,

area above F- I - area above
⇐2

= 0.1587-0.02285 Or 1359



÷! lR i

avec s area between Zeo & I,
t same as

area between z, o & -12
← area between

2-SO & 2

= 0.3413 to. 4772
= 0. 8185



areas .0500

f 2-= 1.64

i



10% of 2- scores fall above

2- = 1.28

area
= 10%

5. 0100

↳
,
s
,

i

2-= - 1.28



two areas add up to 0.05

area
= 0.025

areas 0.025

ha t
tf ko

p p

£51.96 Zs had

95% of area falls between -1=98 & 116










